Dynamic Assessment: Test 3

1. The price of a dress has been reduced by 28 %. If the original price was £ 90 what is it now.

2. The price of a printer has been reduced by 24%. If the original price was £ 84 what is it now.

3. What does the digit 4 in 899489 represent?

4. What does the digit 7 in 927290 represent?

5. Apostis 6 feetand 4 inches. What is this in metres.

6. A postis 4 feetand 5 inches. What is this in metres.

7. A rectangle has a perimeter of 30 cm. Two of the sides are 5 cm. What is the area in cm sq.

8. A rectangle has a perimeter of 26 cm. Two of the sides are 7 cm. What is the area in cm sq.

9. Cards come in packs of 9. How many packs are required to purchase 684 cards?

10. Chocolates come in boxes of 7. How many boxes are required to purchase 630 chocolates?

ANSWERS

1.64.8
2.63.84
3. 400
4. 7000
5.1.93
6.1.35
7.50.0
8.42.0
9.76.0
10.90.0




